Mammalian Anatomy & Physiology BIOL268


EXAM 3 
NAME:


INSTRUCTIONS:

1.  Place ANSWERS (Multiple Choice - Capital Letters PLEASE) in the appropriate blank on the exam next to each question. Please type in your short word answers on the exam.

2. Graded exams will be returned via email. 

3.  Your answer will not count if I cannot read it.  Please write clearly!

4.  Make sure you place your name on the exam.
5.  Relax and GOOD LUCK!   


PART ONE - MULTIPLE CHOICE (choose the best answer) (75 points)
1) Which of following is a function of the skeletal system?

A) body support             B) calcium homeostasis                C) protection of internal organs

D) blood cell production                            E) All of the answers are correct.

ANSWER:


2) The shaft of long bones is called the

A) epiphysis.       B) metaphysis.       C) diaphysis.      D) paraphysis.     E) endophysis.

ANSWER:


3. The adult skeleton contains ________ major bones.

A) 88      B) 115        C) 174       D) 206        E) 251

ANSWER:


4. The proximal and distal ends of a long bone are called the

A) epiphyses.       B) diaphyses.          C) epiphyseal plates.

D) metaphyses.                         E) periphyses.

ANSWER:
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5. The humerus is an example of a(n) ________ bone.

A) long        B) short        C) flat         D) irregular          E) sesamoid

ANSWER:


6. Bones that have complex shapes are

A) long bones.   B) flat bones.   C) sesamoid bones.    D) short bones.   E) irregular bones.

ANSWER:


7. Which of the following is not true regarding the axial skeleton?

A) has 80 bones         B) includes the skull        C) includes the pelvic and pectoral girdles

D) includes auditory ossicles    E) includes the thoracic cage

ANSWER:


8. Which of the following is a function of the axial skeleton?

A) provides an attachment for muscles that move the appendicular skeleton

B) provides an attachment for muscles that move the head, neck, and trunk

C) provides an attachment for muscles involved in breathing

D) provides protection for the brain and spinal cord

E) All of the answers are correct.

ANSWER:


9.  Which of the following is not a cranial bone?

A) frontal    B) parietal      C) palatine       D) temporal      E) occipital

ANSWER:


10. Air-filled chambers found in several bones of the skull are called

A) conchae.       B) sinuses.       C) fontanelles.      D) sutures.       E) fossae.

ANSWER:


11. While playing softball, Gina is struck in the frontal bone by a wild pitch. Which of the following complaints would you expect her to have?

A) a sore jaw     B) a black eye     C) a headache      D) a sore chest      E) a sore back

ANSWER:


12. Damage to the temporal bone would most likely affect the sense(s) of

A) balance.     B) hearing and balance.     C) smell and taste.     

D) vision.                           E) touch and pressure.

ANSWER:


13. Your friend Greg is hit in the jaw and when looking at him, his face looks misaligned. You immediately take him to the emergency room and are not surprised to learn that he has a broken

A) temporal bone.

B) zygomatic bone.

C) mandible.

D) external auditory meatus.

E) clavicle.

ANSWER:


14. Which of the following constitutes the pectoral girdle?

A) clavicles only

B) clavicles and scapulae

C) clavicles, scapulae, and humerus

D) clavicles, scapulae, humerus, radius, and ulna

E) clavicles, scapulae, humerus, radius, ulna, and carpal bones

ANSWER:


15. The appendicular skeleton includes the bones of the upper and lower extremities and their supporting elements called

A) joints.     B) girdles.      C) sutures.     D) ball and socket.     E) rotator cuffs.

ANSWER:


16. In the anatomical position, the ulna is located ________ to the radius.

A) distal     B) proximal      C) medial      D) superior       E) lateral
ANSWER:


17. There are ________ carpal bones located in the wrist, which form ________ rows of bones.

A) 2; 8     B) 10; 3      C) 4; 2      D) 8; 2      E) 6; 2

ANSWER:


18.  The bones that form the fingers are the

A) carpals.    B) tarsals.      C) metacarpals.     D) metatarsals.      E) phalanges.

ANSWER:
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19. The bones that give the hand a wide range of motion are the

A) carpals.     B) tarsals.    C) metacarpals.     D) metatarsals.     E) phalanges.

ANSWER:


20. Joints can be classified structurally as

A) bony.   B) fibrous.     C) cartilaginous.   D) synovial.  E) All of the answers are correct.

ANSWER:


21. Mike falls off his skateboard and sprains his ankle. Which of the following most likely occurs with this type of accident?

A) A bursa is damaged and leaks synovial fluid.

B) A ligament is stretched and collagen fibers in the ligament are damaged.

C) Articulating bones are forced out of position and ligaments are torn.

D) Dislocation of the ankle occurs.

E) The tibia is broken and must be set in a cast.

ANSWER:


22. Which of the following is not a property of synovial joints?

A) freely movable                            B) lined by a secretory epithelium

C) covered by a serous membrane                         D) contain synovial fluid

E) covered by a capsule

ANSWER:


23. A ________ occurs when articulating surfaces are forced out of position.

A) fracture    B) bunion     C) bursitis      D) dislocation     E) sprain

ANSWER:


24. The three functions of synovial fluid are nutrient distribution, shock absorption, and

A) stabilization.   B) lubrication.     C) padding.     D) strengthening. E) enzyme secretion.

ANSWER:


25. The ankle joint is an example of a(n) ________ joint.

A) condylar   B) saddle     C) hinge    D) ball-and-socket   E) gliding

ANSWER:


PART TWO (LAB) – (25 points)
Place the 206 bones into the four major categories: long bones, short bones, flat bones, and irregular bones. Make sure that you present a summary and your total adds up to 206. I would like either figures to support your answer and/or internet links for greater detail in addition to a cited reference in a bibliography. Good Luck!
